City of Cocoa

Solicitation Number: ITB B-24-06-COC

ATTACHMENT "E"

Item	Description	Quantity	Unit	Unit Cost	Total		
1	Mobilization/ Demobilization	1	LS	\$22,280.00	22,280.00		
2	Insurance, Bonds, & General Conditions	1	LS \$111,400.00		111,400.00		
3	Maintenance of Traffic	1	LS	\$8,355.00	8,355.00		
	Erosion Control						
4a	Inlet Protection	11	EA	\$729.67	8,026.37		
4b	Silt Fencing	2100	LF	\$6.41	13,461.00		
Demolitions and Removals							
5	Conduct Clearing and Grubbing (including tree removal)	1	LS	\$35,648.00	35,648.00		
6	Mill existing Asphalt Pavement	52	SY	\$10.03	521.56		
7	Conduct Demo and Removal of Asphalt and Limerock Base	9600	SY	\$11.14	106,944.00		
8	Conduct Demo and Removal of Asphalt Stabilized Pervious Parking (2 Locations)	1240	SY	\$10.03	12,437.20		
9	Conduct Demo and Removal of Concrete Curb	3300	LF	\$3.34	11,022.00		
10	Conduct Removal of Signs	1	LS	\$1,671.00	1,671.00		
11	Conduct Removal of Street Lights	1	LS	\$38,811.76	38,811.76		
12	Conduct Demo and Removal of Concrete Sidewalk	375	SY	\$40.10	15,037.50		
13a	Conduct Demo and Removal of Existing Concrete Flume	1	LS	\$557.00	557.00		
13b	Conduct Flume Demo and Removal and Pipe Modification per Design Documents	1	LS	\$2,785.00	2,785.00		
13c	Conduct MES Demo and Removal and Pipe Modification per Design Documents	1	LS	\$3,342.00	3,342.00		
14	Conduct Demo and Removal of Existing ERCP & MES (noted on Plan Sheets)	1	LS	\$3,342.00	3,342.00		

City of Cocoa Solicitation Number: ITB B-24-06-COC

ATTACHMENT "E"

Item	Description	Quantity	Unit	Unit Cost	Total	
Drainage Structures						
15	Furnish & Install Type C Inlet	1	EA	\$5,881.92	5,881.92	
16	Furnish & Install Type D Inlet	8	EA	\$9,831.05	78,648.40	
17	Furnish & Install Infiltration Trench (Complete per Design Documents including aggregate and perf pipe) 550		LF	\$134.79	74,134.50	
18	Furnish & Install Install MES Structure (including 4'x4' Rip-Rap)	5 EA \$5,013.00		\$5,013.00	25,065.00	
19	Construct Type I Closed Flume (including 4'x4' Rip-Rap)	1 EA \$9,190.50		9,190.50		
20	Construct Concrete Flume (Typical) (including 4'x4' Rip-Rap)	2	EA \$9,190.50 18,3		18,381.00	
21	Furnish & Install 15-inch ADS Pipe	80	LF	\$72.41	5,792.80	
22	Furnish & Install 18-inch ADS Pipe	75	LF	\$83.55	6,266.25	
23a	Furnish & Install 12x18 inch ERCP	165	LF	\$96.92	15,991.80	
23b	Furnish & Install 19x30 inch ERCP	225	LF	\$155.96	35,091.00	
23c	Furnish & Install 14x23 inch ERCP 115 LI		LF	\$105.83	12,170.45	
	Pavin	g				
24a	Furnish & Install Type F Curb	1451	LF	\$44.56	64,656.56	
24b	Furnish & Install Type D Curb	1469	LF	\$33.42	49,093.98	
24c	Furnish & Install Type Ribbon Curb	209	LF	\$27.85	5,820.65	
25	Proof Roll and Stabilize Subbase Soils	12,600	SY	\$8.91	112,266.00	
26a	Reinstall 8-inch Crushed Limerock (from Stockpile)	9600	SY	\$15.60	149,760.00	
26b	Furnish & Install 8-inch Crushed Limerock (Makeup Amount)		SY	\$15.60	46,800.00	

City of Cocoa Solicitation Number: ITB B-24-06-COC

ATTACHMENT "E"

Item	Description	Quantity	Unit	Unit Cost	Total	
27	Furnish & Install 2-inch Asphaltic Concrete	1430	TON	\$150.39	215,057.70	
28a	Furnish & Install 4-inch Striping (Temporary)	3500	LF	\$6.68	23,380.00	
28b	Furnish & Install 6-inch Striping (Temporary)	500	LF	\$6.68	3,340.00	
28c	Furnish & Install 12-inch Striping (Temporary)	170	LF	\$6.68	1,135.60	
28d	Furnish & Install 18-inch Striping (Temporary)	100	LF	\$6.68	668.00	
28e	Furnish & Install 24-inch Striping (Temporary)	15	LF	\$6.68	100.20	
28f	Furnish & Install 4-inch Striping (Thermoplastic)	3500	LF	\$6.68	23,380.00	
28g	Furnish & Install 6-inch Striping (Thermoplastic)	500	LF	\$6.68	3,340.00	
28h	Furnish & Install 12-inch Striping (Thermoplastic)	170	LF	\$6.68	1,135.60	
28i	Furnish & Install 18-inch Striping (Thermoplastic)	100	LF	\$6.68	668.00	
28k	Furnish & Install 24-inch Striping (Thermoplastic)	15	LF	\$6.68	100.20	
29	Furnish & Install Pavement Marking Arrows (Thermoplastic)	28	EA	\$6.68	187.04	
30	Construct Curb Ramps per FDOT	9	EA	\$2,785.00	25,065.00	
31	Construct 4-inch Concrete Sidewalk	2100	SY	\$33.42	70,182.00	
32	Furnish and Install Bollards	18	EA	\$1,114.00	20,052.00	
33	Add or Regrade 390 SY (3500 SF) of Semi- Pervious Parking (North Section)	390	SY	\$11.14	4,344.60	
Landscaping, Lighting, and Utilities						
34	Furnish & Install Stop Sign	5	EA	\$501.30	2,506.50	
35	Furish & Install Handicap Sign	4	EA	\$501.30	2,005.20	
36	Furnish & Install 'DO NOT ENTER' Sign	2	EA	\$501.30	1,002.60	

City of Cocoa Solicitation Number: ITB B-24-06-COC ATTACHMENT "E"

Item	Description	Quantity	Unit	Unit Cost	Total	
37	Furnish & Install 'Stop for Pedestrians Within Crosswalk' Sign	1	EA	\$501.30	501.30	
38	Furnish & Install Tactile Warning Tile	15 SY \$334.20 5		5,013.00		
39	Sod Installation 280 SY \$98.03		\$98.03	27,448.40		
40	Site Grading (including Excavation, Fill, Grading)	1 LS \$23,394.00 23		23,394.00		
41a	Remove Reuse Line	500 LF \$5.57		\$5.57	2,785.00	
41b	Replace Reuse Line	500	500 LF \$33.42 1		16,710.00	
41c	Relocate Indicated Reuse Line	620	LF \$33.42 20,72		20,720.40	
42a	Fire Hydrant Relocation	1	LS	\$5,013.00	5,013.00	
42b	Remove/Reinstall Benches & Trashcans	1	LS	\$557.00	557.00	
43a	Conduit / Pullbox Installation (materials provided by FPL)	2500	LF	\$23.39	58,475.00	
43b	Conduit/Pullbox/Wiring Furnish & Installation for Lift Station	630	LF	\$23.39	14,735.70	
44	Remove & Replace Unsuitable Fill Material	50	CY	\$83.55	4,177.50	
45	Furnish and Install Dumpster Pad and Enclosure 1 LS \$46,788.00 46,		46,788.00			
Other						
46	Testing Allowance	1	LS	\$10,000.00	10,000.00	
47	Survey and Record Drawings 1 LS \$77,980.00 77,980.00		77,980.00			
	Project Total \$1,822,600.74					

^{*}This price proposal was revised on May 13, 2024 in order to correct some negligible clerical and /or rounding errors in bid prices submitted. The above corrections are considered clerical in nature and have been accepted by the City of Cocoa.

City of Cocoa

Solicitation Number: ITB B-24-06-COC

ATTACHMENT "E"

BID PRICE SCHEDULE (rev Addendum 1 – 2024 04 17) LEE WENNER PARKING LOT IMPROVEMENTS PROJECT

The price submitted constitutes full and complete compensation for all work described in the Invitation to Bid (ITB), including any and all associated costs, taxes, and fees. This price is valid for a period of ninety (90) days from the due date for submission of bids, without change or withdrawal.

	Company Name:	Doug Wilson En	terprises	Inc.				
	Address: 340 Manor Drive, Merrit Island, FL 32952							
	Telephone:	321-783-0903	Email:	tparker@dwente.com				
	FEIN:							
	_	duly authorized on be		company to submit this bid and enter into ns of this ITB.				
ī	Thomas Par Thomas Parker (May 14, 20	<u>(VEV</u> 024 08:14 EDT)		May 14, 2024				
_	Authori	zed Signature		Date				
	Thom	nas Parker		President				
_		Name		Title				
City of \mathcal{A}	Cocoa acceptance o	f Revised Bid Due to m	inor Clerical	and/or mathematical error.				
_\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	5/13	/2024						
Brian D	ale	Date						
Purchas	sing Manager, City	of Cocoa						

DWE Bid Attachment E- Bid Price Schedule REV 5-13-24

Final Audit Report 2024-05-14

Created: 2024-05-13

By: Brian Dale (bdale@cocoafl.org)

Status: Signed

Transaction ID: CBJCHBCAABAATANA5ldUmdLSM0BR5YLjzJPCcqIEI-Hh

"DWE Bid Attachment E- Bid Price Schedule REV 5-13-24" Hist ory

- Document created by Brian Dale (bdale@cocoafl.org) 2024-05-13 9:07:37 PM GMT
- Document emailed to Thomas Parker (tparker@dwenet.com) for signature 2024-05-13 9:09:35 PM GMT
- Email viewed by Thomas Parker (tparker@dwenet.com) 2024-05-14 12:14:24 PM GMT
- Document e-signed by Thomas Parker (tparker@dwenet.com)
 Signature Date: 2024-05-14 12:14:42 PM GMT Time Source: server
- Agreement completed. 2024-05-14 - 12:14:42 PM GMT